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I Choose the best solution/circle a, b, c or d.
Svaki tacan odgovor nosi po jedan poen; ukupno 20 poena

1. c 12.c
2. b 13.b
3. ¢ 14.c
4. d 15.b
5. a 16. a
6. a 17.d
7. d 18. a
8. ¢ 19.c
9. b 20. a
10.c

11.d

Il Complete the sentences with the correct tense (active or passive) of the verbs in brackets:
Svaki glagol nosi po 1 poen; ukupno 17 poena.
1. are not produced
2. is being followed
give, will pay
would find, spoke
are going to have
have ... been; arrived
are having ,wrote, didn't send, wasn't

couldn't, had lost
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were .... doing



lll Use the proper form of the words given in brackets to get the right meaning:
Svaka izvedena rec nosi po poen; ukupno 5 poena.

1. choice

2. rebellious

3. politician
4. disastrous
5

agreement

IV Match the words on the left (1-6) with their synonyms (a-g).
Svaki pravilno spojen antonim nosi po 0,5 poena; ukupno 3 poena.

1-c 2-d 3-e 4-3 5-b 6-—f

V Read the text. Are the sentences True (T) or False (F)?
Svaki odgovor nosi po 1 poen; ukupno 5 poena.

1. F 2. T 3.7 4. F 5T

Test ukupno ima 50 poena.






